

$\frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 4y = 0$   
 Characteristic equation

$$m^2 + 4m + 4 = 0$$

Roots:

$$m^2 + 4m + 4 = 0$$

$$m^2 + 4m + 4 = 0$$

$$m^2 + 4m + 4 = 0$$

$$m^2 + 4m + 4 = 0$$

$$m^2 + 4m + 4 = 0$$

$$m^2 + 4m + 4 = 0$$

$$(m+2)^2 = 0$$

$$m+2 = 0$$

$$m = -2$$

$$m = -2$$

$$y_1 = e^{-2x}$$

$$y_2 = e^{-2x}$$

$$y_3 = e^{-2x}$$

$$y_4 = e^{-2x}$$

$$y = e^{-2x}(C_1 \cos x + C_2 \sin x)$$

For the homogeneous

$$\frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 4y = 0$$

$$y = e^{-2x}(C_1 \cos x + C_2 \sin x)$$

$$y'' + 4y' + 4y = 0$$

$$y_1 = e^{-2x} \cos(2x) \quad y_2 = e^{-2x} \sin(2x)$$

$$y = e^{-2x} (A \cos(2x) + B \sin(2x))$$

$$\begin{aligned} y(0) = 1 &\Rightarrow A = 1 \\ y'(0) = 0 &\Rightarrow -2A + 2B = 0 \end{aligned}$$

$$B = 1$$

$$\begin{aligned} y &= e^{-2x} (\cos(2x) + \sin(2x)) \\ y' &= -2e^{-2x} (\cos(2x) + \sin(2x)) + e^{-2x} (-2\sin(2x) + 2\cos(2x)) \end{aligned}$$

$$y'' + 4y' + 4y = 0$$

$$y = e^{-2x} (\cos(2x) + \sin(2x))$$

Steady state response

At steady state

$$\begin{aligned} \dot{y} &= 0 \\ y &= \frac{1}{\omega^2} \sin(\omega t) \end{aligned}$$



$$\frac{2x^2 + 3x + 1}{x^2} = \frac{A}{x} + \frac{B}{x^2}$$

$$2x^2 + 3x + 1 = Ax + B$$

$$x^2 \neq 0$$

$$x = \sqrt{x}$$

$$x = 1$$

$$2 = A + B$$

$$3 = A + 2B$$

$$2 = 3 + 1 + 2B - 1 - 2B$$

$$-1 = 2B$$

$$B = -\frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$2 = A - \frac{1}{2}$$

$$\frac{2x^2 + 3x + 1}{x^2} = \frac{A}{x} + \frac{B}{x^2}$$

$$\frac{2x^2 + 3x + 1}{x^2} = \frac{A}{x} + \frac{B}{x^2}$$

$$\frac{6x^2 + 5x + 1}{2x^2} = \frac{A}{x} + \frac{B}{x^2}$$

$$6x^2 + 5x + 1 = Ax + B$$

$$4(x^2 + x^2)$$

$$5 + 3 = 0, x = 0, \frac{d}{dx} = 0$$

$$0 = A + B(0) + \frac{d}{dx} [6x^2(0) + 5(0) + 1]$$

$$A = 0$$

$$\frac{d}{dx} = B + \frac{d}{dx} [0(x) - 12(x^2 + 1)]$$

$$0 = B + \frac{d}{dx} [12(x) - 12(x^2 + 1)]$$

$$\frac{d}{dx} = \frac{d}{dx} [6x^2 + 5x + 1 - 4(x^2 + x^2)]$$

$$\frac{d}{dx} = \frac{d}{dx} [6x^2 + 5x + 1 - 4x^2 - 4x^2]$$

$$0 = 0$$

$$\frac{d}{dx} = \frac{d}{dx} [6x^2 + 5x + 1 - 4x^2 - 4x^2]$$

$$\frac{d}{dx} = \frac{d}{dx} [2x^2]$$

$$\frac{d}{dx} = \frac{d}{dx}$$

$$\frac{d}{dx}$$